#B1Y¢% (Tourism Studies)
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Choose three keywords out of the six listed below and explain them.

BOEPEZ (tourism industry)

(HE{EM (mountain worship)

ERBE (rural tourism)

~YF7— Y —1 XA (heritage tourism)

ARARESZ AR (host and guest)

MICE (Meeting, Incentive travel, Convention, Exhibition/Event)
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Explain the development process of tourism and its characteristics and factors in

China, focusing on the second half of the 20th century and later.



e ENRES: (Wildlife Population Demography)
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Choose two keywords out of the five listed below and explain them shortly.

FEMEIRE (population demography)
fRAeE{5% (conservation genetics)
BN LMY A X (effective population size)

1252 HE (introgression)

A

571544 (genetic pollution)
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Explain how wildlife population demographic studies can contribute and apply to

mountain science, citing specific examples.



ERERAERES: (Ecosystem Ecology)
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Choose three keywords out of the six listed below and explain shortly.

1. Cs3ZtApL (Cs photosynthesis)
2. MiIARERAPE (net ecosystem production)
3. ¥#E\7 7 v 7 Z(latent heat flux)
4. JEHE (humus)
5. U—t vt i/t (Liebig’s law of the minimum)
6. H£F< 1 (andosol)
II. ROtk (CO2) IEEIE, FREIZHE) L7220 b P am LMK 2 ppm O
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The concentration of carbon dioxide (CO2) in the atmosphere has been increasing at a
rate of about 2 ppm per year since the Industrial Revolution, with seasonal variations.
In the Northern Hemisphere, it is known that the range of seasonal variation is larger
than that of the Southern Hemisphere. Explain why the atmospheric COz
concentration has been increasing since the Industrial Revolution and why the
seasonal variation of atmospheric CO2 concentration is larger in the Northern

Hemisphere than in the Southern Hemisphere.



B4R (Forest Ecology)
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Choose three keywords out of the six listed below and explain them.

1. UV X—RBIzEB) 5 7#ER (degradative succession in litter layer)

2. FMtEFOY OARHE I (immobilization of phosphorous in forest soils)
3. fXMEREA (substitutional vegetation)

4. fADY 2 — MR (shoot growth of trees)

5. MEE AHRE/EHEY) (vascular epiphytes)

6. 2UEVDxTauar—i 3 (echolocation of bats)
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Explain process of forest ecosystem development in primary succession in terms of
biomass, soil formation, nutrients, light condition in forest floor and species

interactions.



EJFRARES (Grassland Ecology)
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Choose three keywords out of the six listed below and explain them.

¥/ %k (Shannon diversity)
AREZEN) =~ F (ecological niche)
¥ —A h—2F (keystone species)
NAF VAT 4 =—3 3 (bioremediation)

EReFR T =7 (ecosystem engineer)
y g
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WAL (over grazing)
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Explain the hysteresis-type regime shift citing specific examples.





